Seat No.

Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination - 2016

Subject Code: C300004

Subject Name: Engineering physics (group-1)
Time: 10.30 AM to 12.00 PM

Instructions:

1.

2
3.
4.
5

Attempt all questions.

Make suitable assumption wherever necessary.
Each question is of 1 mark.

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

. English version is authentic.

Date:08/06/2016

Total Marks: 70

No. | Question Text and Option. U# Ual (Ascl.

Which of the following unit is a fundamental Physical unit?

1. |A. |m/s B. | m
C.|N D. | m’
[AA R As0Hell sl Asu Yoo AsH B?
| A [ lers Ass B. ez
No. of Significant figures in 1.60 X 10 " is
2. A1 B.[2
C. |3 D. | 4
1.6 X 10 " i s wslo{l vl 0.
Al B.[2
C.|3 D. | 4
For a vernier calliper 1 division of main scale is Imm and total 20 divisions in vernier scale. It
3 has ......... least count
" | A. ] 0.05mm B. | 0.02mm
C. | 0.5mm D. | 0.2mm
As clelar HAuell yua Bctotl s [@Qewdle] U 1mm B, wal alolaR B UR s
3 |20 [Qewdll ®, Al d.uLa a3\,
A. | 0.05mm B. | 0.02mm
C. | 0.5mm D. | 0.2mm
S.I. unit of work is
4 A Dyne B. | joule
C. | Newton D. | Watt
sloll S.I. AsH 8.
¥. | A sl B. | ot
C. | j2at Al
Physical quantity is derived from other physical quantities.
5. ['A. [ Vector B. | Scalar
C. | Fundamental D. | derived
W[, alllQs AR wo clllds AR uRell drRaatl WAl B.
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Al ua B. | el
C. | yagd AR
Energy/time =
6. 'A. | Power B. | Speed
C. | Acceleration D. | Efficiency
st/ umal =
5. [ Al war B. | %su
C. [ yaol D. 1 atuc
A person travels 6 Km towards East, then 8 Km towards North. Find magnitude of
7 Displacement.
" | A. | 14km B. | 14m
C. | 100km D. | 10km
As s 6 (5.4 yd Raunt yaut 531 o el (eaumi 8 (5.l yat 52 8, Al dof
DL IGERNO
9.
A1 (500 B. 114 2l,
C. 1100 (5L D. 110 .l
Which of the following instrument is used to measure thickness of wire?
8. | A. | Verniar callipers B. | Micrometer screw gauge
C. | Scale D. | Protector
[RAAstl Hiell 53 AUltot UldoU cltauRedl ostste Hiual Gu(l B2
¢. | A allar Aud B. | wigsile: wdly
C. §auﬂ D. SlaL-HIUS
2 kg mass object is released from steady state under the effect of gravitational acceleration,
9 what will be its velocity after 2 second?(g = 10m/s)
" | A. | 40m/s B. | 30m/s
C. | 20m/s D. | 10m/s
2kg €0 HRlaA Ueldl op3(ia Yol s el warauell Ysd Udet scll EalHl
¢ | AA Al 2sec Bl AHA ULl dell AL FeAl UA? (g=10m/s?)
A. | 40m/s B. | 30m/s
C. | 20m/s D. | 10m/s
If external force acting on a body is zero, then its
10. | A. | Velocity remains constant B. | Acceleration remains constant
C. | Acceleration increases D. | Velocity decreases
B WELHN Yol Sl
0. | A | QoL AN L B. | yaoL xun s
C. | yaol audl sla D. | Qot wedl sl
A force of acts when solid surfaces slide (or tend to slide) across each other.
11. | A. | Deceleration B. | Acceleration
C. | Friction D. | Weight
22l (? ot UELoll AU WS (At UR ARl Slau(acl AR scllel ddl uRladl
4. | 8lA) Sl)UR A JWERA a2 .............. G AL,
AT yldyaot B. | yaol
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C. D.

uel ool
What is the force applied to object of mass 5kg to accelerate 3m/s” ?
12. | A. | 15N B. | 10N
C. | 30N D. | 5N
Skg e0elleird A 3m/s? oll YAdLl YAdlld scll U 3¢ ol UG UsSA?
WA TI5N B. [ 10N
C. | 30N D. | 5N
Momentum =
13. | A. | Mass X acceleration B. | Distance / time
C. | Force X distance D. | Mass X velocity
AOHLet =
3. | A [ eq X yaol B. T aid? X ama
C. o X R D.len x QoL
A ball thrown vertically upward with a velocity of 50 m/s from the ground. What is the time
taken by the body to reach at the ground? [Take g = 10 m/s’]
14.
A. | 10sec B. | 5sec
C. | 3sec D. | 4sec
As £S5l BLUR RS 50m/s oll AdLl FscuHind 8. Al $31 wel allot Yull WeAal
qy. | Hle 32cll UHA AL 2
A. | 10 sec B. | Ssec
C. | 3sec D. | 4sec
The law that states that every object maintains constant velocity unless acted on by an external
force is
15. | A. | Newton’s first law of motion B. | Newton’s second law of motion
C. | Newton’s third law of motion D. | the law of conservation of
momentum
a2l Yl 518 Ueld UR cll@en dousclltl of A @l Yol d ueld wan Aael
ald A AN B, ul Rauna [ sd ®.
.
A | Jeetell Ul B. | 2jzatall (A8
C. | 3jeatall o D. | Qotntetetl dRetalell
A person feels a jerk in the forward direction if a bus suddenly stops is due to
16. | A. | Inertia of Motion B. | Inertia of Rest
C. | Inertia of Direction D. | None of the above
2R A5 olld scll ¢ AAULets Gell ¥ B AR As sl wdtnell R auni ussl
AdA B 5120l
6.
A allds sl B. | RAd sl
C. | (Rau wscat NERVETEEF
Gravitational force is due to
17. | A. | Charge B. | Shape
C. | Mass D. | Magnetic field
9)3cclls2lul “n ol 5120 sl 8.
. | A | [QgdauR B. | as(?
C.lea Yroisla &t
18. | Which of the following have lowest inertia?
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A. | Bicycle B. | Scooter
C. | Car D. | Truck
[(AAatt Hiell Slof scet Wl g &2 2
. | A | wsse B. | 252z
C.| sz 28
Micrometer screw gauge L.C. =
19. | A. | Pitch X no. of div. on main scale B. | Pitch X no. of div. on circular scale
C. | Pitch/ no. of div. on circular scale D. | Pitch / no. of div. on main scale
Hgs\Meell cuLal =
. | A AU X Hul ¥Cloll g (Qeuot B. | Qy x dduusi? Weell s (Qeuoat
C. | Qusadnusik et st [Qewdt | D- | Qa7 Yyt Bdell e [Qewat
Force between glass and water molecules is called.
20. | A. | Cohesive force B. | Adhesive force
C. | Newton D. | Dyne
1A ol WRlotl AR A ALl Wl 58 9.
R0. | A | el B aafsel
C. | J2at D. | siget
Here four wires of same material with different diameter ‘D’ and same length is given, on
71 hanging same load to all of them which one extend its length maximum?
" | A. | D=4 mm B. | D=3mm
C. | D=2mm D.| D=1mm
(AA WAL AR AR AUHlot AULE Wl WA WA ‘D’ UM URAA B, Al £ UR
2q | UMlol GUR cesladl gl cdlRell AollgHl Al HedH U ?
A.|D=4mm B. | D=3mm
C. | D =2mm D. | D=1mm
Hooke’s law given by
22. | A. | Stress a strain B. | Stress o 1/strain
C. | Stress + strain = constant D. | Stress- strain = constant
&8 oll [[lan ad AU 8.
.| A | B o Yl B. | @ a 1/880
C.l R + R8ot= AN D. 1R - R8et= wAN
Small liquid drops are spherical in shape because of
23. | A. | Atmospheric pressure B. | Surface tension
C. | Viscosity D. | Osmotic pressure
Yyl otiey Ry ol 510 JNGUSIR ISR YR 52 B
3. [ A | alcdtar@aL ol B. | ywdul
C. | Retoudl D. 12208 e
The height to which a liquid rises in a capillary tube does not depend upon
24. | A. | acceleration due to gravity B. | angle of contact of the liquid
C. | density of the liquid D. | Atmospheric pressure
Fatotolll yauglell Guy UR AR Al otel.
¥, | A | 93cct YAl B. | yaugloll 2usl sla
C | yaudloll eotelt D.

cAlcAlelRBle] EGURL
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When velocity of fluid remains constant at each point of the fluid, it is known as....

25. | A. | Steady flow B. | Laminar flow
C. | Turbulent flow D. | Viscosity
AR cddetHl €35 (Gl WA dRcell AL AUUN @Al 8l Al Aell cAselad
58 ©.
Y. A
| Rl aget B. | :tdlat cset
C. | ygjott cleet D. | Raloucll
The quantity of heat flowing through a conductor is proportional to it
26. | A. | Cross sectional area B. | Length
C. | Temperature at that point D. | Coefficient of thermal expansion
aAles Hiell UAMR UA GuHlol o2l A Slotl AYHIRHL 6212
5. [ A | AsBE Ansn B. | oy wR
ColQ (g WAsll dAtuHLet UR A2l Aol HAUANLS UR
100 °C temperature = Fahrenheit
27. A ] 194 B. [ 212
C.| 176 D. | 32
100 °C cllUHlot = 302
9. A 194 B. [ 212
C.| 176 D. | 32
By which of the following ways energy of sun reaches to earth?
28. | A. | Conduction B. | Convection
C. | Radiation D. | All the above
[AA R Hiell 58 A Yaloll Gl yecll yell WeA &2
¢. | A | GuL dget B. | Guil otatet
C. | (adlzual D. | e ol
Temperature difference of two ends of 100cm long metal rod is 200 "C temperature gradient
29, becomes0 0
A.]0.5C/cm B. | 0.25°C/cm
C. | 2°C/em D. | 4°C/em
100cm GAloll AlA2Alall A BSLoll dluMletoll dsteld 200 °C 8. Al dlUHlel YU
W | - 3.
A.10.5 °C/em B. | 0.25°C/cm
C. |2 °C/em D.[4 °Clem
A good absorber of radiation is a
30. | A. | Good emitter of radiation B. | Poor emitter of radiation
C. | Good reflector D. | None of the above
QS0 UL NS &9\.
30. | A | AURL GRS B. | Qln Geuer's
Co | Rt wrtads D. | GuR el As uel «l(@.
When heat is given to 100°C boiling water, the temp of water
31. | A. | Increases B. | Decreases
C. | Stays the same D. | None of the above
34, | %R 100°C Gsnicll WRllal Gyl AUt A R, UWRlle] diumiet
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audl B. | yed
C. | a8 3282 o8 axn GUR AUl As uel «l(@.
Any force acting on a body which changes its shape, is known as force
32. TA. Restoring B. | Deforming
C. | Plastic D. | Electromagnetic
518 UELS UR GOl WAL 5 % Aol AUSIRHL 3SR 53 Alall Ul ua 5& B.
3R. | A | YotAUUS 6L B. | [Q3us ol
C.lwus D. | sQsanoxARs
Unit of stress is same as unit of
33. | A. | Pressure B. | Work
C. | Momentum D. | Force
yYlAonell AsH AR ol AsH YHLlo B,
33. | A | e B. | g2l
C. | Qatuat D. | oin
Increasing the temp of 100g of water by 1 °C requires
34. | A. | 1 Calorie B. | 50 Calories
C. | 100 Calories D. | 500 Calories
100 UH URlal 1°C clUHlol clulRall HI2 dRH sl HI2 %331 Gl
3¥. | A1 3@3 B. 1 50 3@l
C. 1100 3a3l D. 1500 3a3l
The wavelength of sound in air is 10 m . its frequency is, (Given velocity of sound = 330 m/s)
35. | A. | 330 cycles per second B. | 33 cycles per second
C. | 3.3 cycles per second D. | 3300 cycles per second
sl tellloll dRolcdets 10m slal Al Aoll AgR (eclml tellRell AdL=330m/s)
3U. | A | 330 AAsCL YA AsS B. | 33 lascd yld Ass
C. 3.3 wasc yld Ass D. 13300 dascd yld Ass
A unit mass of solid converted to liquid at its melting point. Heat is required for the
36, | process is called
" | A. | Specific heat B. | Latent heat of Vaporization
C. | Latent heat of fusion D. | External heat
3¢ | A | @R G B. | Qée (32 g AURIBRoL
C. | Ade (32 s wxel D. | oual Gul
In the transverse waves the direction of vibration of particle in medium is
37. | A. | Perpendicular to propagation of wave | B. | Parallel to propagation
C. | Not fixed D. | Changes with time
AMILA ARNHL HItRHHL 500{l Elctatoll (22U
39. | A | yareell Reuell cot B. | yaruell (2 auell iR
C. ARl A EURTD RN
A solid sphere is allow to fall freely under gravity in fluid, after some time its velocity becomes
33 constant(not changing) this velocity is known as
" | A. | Final B. | Initial
C. | Average D. | Terminal
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ARAML 2N0USIR UELE ol YScAUdlot SRAcAl WYS UHA GILE AollAdL AUUN UY 1A O

AUl QoL o QoL 88 B.
3¢. ; :
A | ¥iQu B ylas
C. | a2 D. | 2ot
Relation between frequency(f) velocity(v) and wavelength(A) for wave is
39. A [ f=V/A B. | f=Mv
C.|[f=Av D. | f=1/(v)
dRoL HI2 AUGRU(F), AdL(v) e dARdIANE (1) oll UolH
3¢ [A.Tf=v/2 B. [f=Wv
C.|[f=Av D. | f=1/(Av)
Average Kinetic Energy of molecules is
40 A. | Directly proportional to square B. | Directly proportional to absolute temp.
’ root of temp.
C. | Independent of absolute temp. D. | Inversely proportional to absolute temp.
uQofl AR A Gosl
¥0. | A | dluHletatl colyoell AHYHIRML | B | diudiototl qHy -l
Co | ctuntotell 2etdat dAlUHlototl Rl YHLBHL
Audible waves have a frequency range
41. | A. | 0to 10,000 Hz B. | 20 Hz to 5,00,000 Hz
C. | 20Hz to 20 kHz D. | 20 Hz to 40 MHz
sl welladoll wugdl aual............ 8.
¥4. | A | 0 ¢l 10,000 Hz B. 120 Hz 4l 5,00,000 Hz
C. | 20Hz &l 20 kHz D. | 20 Hz &l 40 MHz
When two waves of same frequency and 2meter amplitude superposed on each other than
47 maximum possible resultant amplitude will be ..........
A | 1m B.|2m
C.|3m D.[4m
2R A UHlol Al A 2 A2 51U[ARAR URleldl dR90 As (Bl UR Auld
wo | Al Al uReuHl asel HedH SUlQudR
A |1lm B.|[2m
C.|3m D.|4m
Sound can’t travel from,
43. [A. [ Water B. | Matter
C. | Air D. | Free Space
telfol Higll uR U8 asdl ol
¥3. | A well B. | gcat
C. scll oUlASI2L
Which waves are used in Sonography?
44. | A. | Light B. | Ultra sonic
C. | X —rays D. | Radio
WAUSIHL 5L 200l GUALDL A B2
¥¥. | A uslal B, ucpiallals
C | a- (3200 A
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Value of co-efficient of absorptivity of sound is maximum for

45. | A. | Open window B. | Heavy carpet
C. | Heavy curtain D. | Audience
teloll 2NMBL Vise] YU R Al ay sla 8.
¥u. | A el oudl Bl aR s1ile
C. | alR usel D. | sietl
The splitting up beam of white light into its different colour is known as
46. | A. | Dispersion B. | Interference
C. | Refraction D. | Polarization
U¥E Uslalotl (50e] Aoll Ul PVUHL [Qeueset AeA ¥ Yslald..........
¥s. | A | [Qeuset B. | cafQszal
C. | alsetctet D. 1 y(aetaet
Heat transfer in liquid and gases takes place by
47. | A. | Conduction B. | Convection
C. | Radiation D. | Conduction and Radiation
yalgl wal clyYHi GuHley Adet ad w9,
¥9. | A | Guldedt B. | Guitetatat
C. | [@glra D. | Gaiaset wal (AslRel
When a ray of light pass through one medium to another medium there is banding in its path
43 this phenomenon is known as .........
" | A. | Dispersion B. | Interference
C. | Refraction D. | Polarization
yslaleg (5201 As MitaHHil (@t HIAHM oA AR A dig dd B L Uesila
58 B.
¥C. A B
- | [Qewesst - | caldsel
C. | aBetciot yldetctot
Snell’s law given by Sin i/sinr =
9. ATl B. | Infinite
C. | Constant D. | Variable
Wl A Y2 Sini/sinr= ad Wl st 8.
¥e. | A |1 Aoldt
C.l aun U
A simple Microscope has Lens
50. ['A. | Concave B. | Plano Concave
C. | Mirror D. | Convex
ULEL HBSRSIUHL Ad sl 8.
o. | A | AdR A B. | aucd 2icolln
C. | B D1 3ol
The ratio of image size and object size is defined by
51. | A. | Magnification B. | Diopter
C. | Radius of curvature D. | Focal length
uq. | yldollot G ual cdrd GuLell QIR o .......... 58 ©
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A Qleall

B.

sANLRR

C. | asdl Q=2

D.

Sa colld

A Convex lens is of 20 cm focal length. Its power shall be

52. |A.]02D B.[2D
C.105D D.|5D
As o@ollnn Artell 3 detts 20em B Al Aol LR 32l &2
YR TA.J02D B.[2D
C.105D D.|5D
Which of the following is most nearer to perfectly black body?
53. | A. | Silver B. | Suit of lamp
C. | Black board D. | None of the above
AA 2l Hell sl ueld wydl ston uetdoll Well s B2
u3. | A | Ulel B. [ Rauell Ral
C. | sl Wiy D. it diell as uwl «18l
Generally which colour is used in STOP signals
54. | A. | Green B. | Yellow
C. | Red D. | Black
AHL A <Al ofl Plauell W2 sl 201 UL L ActHl WA B2
wy. [ A | dla B. 1 Ul
C.l et D. | stal
Which of the following phenomenon is used in Optical fiber communication
55. | A. | Reflection B. | Interference
C. | Total internal reflection D. | Diffraction
ol wUAl 1l ystatell 58 ot VNURSAH SISHRHL GUAHL Al B?
uu. [ A | wrladst B. | cufds2ue
C. | Yol uidRs unadst D. | @edet
Size of nano particles lies between nm.
56. | A. | 100to1000 B. [ 0.1 tol0
C. | 1t0100 D. | .01 tol
Aol S0l WUSIR nm ol sHell sl B,
us. [ A 100 &l 1000 B-1o.1ell 10
C.l1ell 100 o1l
What is the full form of STM?
57. | A. | Scanning trimmer machine B. | Super tunnelling microscope
C. | Super trimmer machine D. | Scanning tunnelling microscope
STM of Y3 ol 9 87
wo. [ A | Blolol xR Hellot B yuR 2at(dol wugsisiu
C.l gur RuR Hallot BeloL eat(dol MBsRSU
Distance of Distinct vision is
58. |A. |25 cm B. | 50 cm
C.llm D. | 10 cm
Hot2l HI2 YeAsd a(@e] R Bed 0.
H¢.TA. [25¢m B.[50 cm
C.llm D. | 10 cm

9/11




Velocity of light in air and glass are 3x 10°m/s and 2x 10°m/s respectively. What is refractive

index of glass?

>9. A | L5 B. |6
C. | 0.667 D. |8
SAHL Usllell AL 3x 10°m/s el 81 Uslelell AL 2x 10°m/s &l cl sl ol
we. | dlsetadtis(R3sea 6381) el a?
A |15 B. |6
C. | 0.667 D. |8
How many types of beta particles?
60. |A. |1 B. |2
C.|3 D. | 4
(Qal suL ¥ecll uslrell sl 82
SO-[A. T1 B.[2
C.|3 D. | 4
Alpha particles are
61. A Positively charged B. | Negatively charged
C. | Charge less D. | Electromagnetic waves
ulesl s0L A 8
sq. | A | ol [Qgdelr YRl 50 B. | 0l Qgdet? uladl 5.t
C. | Qg aur 8l (Qgjulda dRal
Due to emission of B particle converts to proton
62. ['A. | Proton B. | Neutron
C. | Electron D. | None of above
B 50Qlo] Geuol acell o} Yl_lotHi 3UlcdR U4l
SR, Ulalet B. | 2let
C. | sAQslet D e sell s uwl o8l
Gama particles are
63. I'A. Positively charged particles B. | Negatively charged particles
C. | Heavy particles D. | Electromagnetic waves
SUHL 501 A 8.
3. | A | tot (Agdelr URlddl 50 B. | 0l (Qadeu? ullddl sl
C. | udl en ynadl s Qgyollsa dRal
Alpha - rays are nucleus of
64. ['A. Hydrogen B. | Oxygen
C. | Carbon D. | Helium
ulest (500 oll ojsAAA B,
S¥. | A | slBE et B. | 25t
C. | stolot (dcllan
Unit of radio activity is
65. 'A. | Joule B. | Newton
C. | Cuire D. | Pascal
su. | A3 Als2(Adl- AsH
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B.

A | ot 2ol
C. | 3 Dl ursa
Half life time of a radioactive material is 30 days what time is required for decay of 75% of
66 material?
" | A. | 45 days B. | 60 days
C. | 15 days D. | 90 days
32 A2l dect ol wtlPclotslon 30 Rad 8la,dl A decle] 75% ([Queet dal U2
FeCll UHA ALIA?
S6.
A 45 (o B. | 60 Ea
C. 115 Ral 90 (Eadl
No. of Neutrons in ,U>?® i
67. A, ] 146 B.[92
C. 238 D. | 330
U Ul oj3lotell Ruall
9. | A | 146 B. 192
C. | 238 D. 1330
Which of the following reason two and more positively charged protons stays together in a
68 nucleus?
" | A. | Electrostatic force of attraction B. | Nuclear force
C. | Gravitational force D. | Magnetic force
[AA WAL sl 510U A ¥ dy Ul [AseuRd Walet As WA A5 EAUU HL
el ¥ B2
SC.
A | RAAQg vce] w520l ol B. | ysQur v
C. | ojccusdnl e Jouldau o
Neutron and proton are commonly known as......
69. | A. | Nucleons B. | Meson
C. | Boson D. | Quartz
o3j2lot Aol Yleloial ULHLeA Il A3 AUl wa B.
se. | A | oY(s@lot B. | 3ot
C. | sl sclle s
When alpha particles emitted from any radioactive material its atomic no. reduced by
70. A T1 B.[2
C. |3 D. | 4
R 518 AsA wlsza uetsdl Hiell aiest 501 Gld aal Al ueld Wdlell URHIY
SHISH oll uLsl 2.
90 FA T, B. [,
C. 3 4
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